Redoxireakciok
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1. Oxidaciés szamok (valogatva)
m HNO;: +1;+5;-2
. .. m H,SO,: +1; +6;-2
amolasi feladatok . Fe,05  +3.-2
m H,0,: +1;-1
m KMnOy4:  +1;47;-2
Redoxireakcidk
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. 3. Egyenletek
2. Melyek redoxi egyenletek? oy
ma SO, 2 Fe+3Cl, =2 FeCl, 2 HgO —2Hg + 0,
m c. Na
me. st
m f. diszproporcio CH,+20,=C0O,+2H,0 2FeCl, +Cl, =2 FeCl,
m g. SnCl,
2KBr+Cl,=2KCl+Br, 4FeS+70,=2Fe,0, +4850,
3 4
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4. Egyenletrendezés

1. 2Fe” +Sn* =2Fe* +Sn%* 5. 5KBr + KBrO, + 6 HCl=3Br, + 6 KCl + 3H,0
2. 4NH,+50,=4NO+6H,0 6. V+10HNO, =3V,0, +10NO +10H,0
3. 4NH, +30,=2N,+6H,0 7. 3SnCl, + KBrO, + 6 HCl =3 SnCl, + KBr +3H,0

4 2H,8+30,=280,+2H,0 8 5Cl, +1,+6H,0 =2HIO, +10HCl




